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UNIVERSITY OF SWAZILAND

RE-SIT / SUPPLEMENTARY EXAMINATION PAPER

PROGRAMME: B.Sc. in Agricultural Economics and Agribusiness Management
Year 3

COURSE CODE: = AEM 302/307 .

TITLE OF PAPER: INTRODUCTION TO ECONOMETRICS

TIME ALLOWED: TWO (2) HOURS

INSTRUCTION: 1. ANSWER ALL QUESTIONS
2. EACH QUESTION CARRIES TWENTY FIVE (25)
MARKS

DO NOT OPEN THIS PAPER UNTIL PERMISSION HAS BEEN GRANTED BY
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QUESTION 1

The relationship between nominal exchange rate and relative prices. From
annual observations from 1980 to 1994, the following regression results
were obtained, where Y = exchange rate of the German mark to the U.S.
dollar (GM/$) and X = ratio of the U.S. consumer price index to the

German consumer price index; that is, X represents the relative prices in

the two countries:

¥ —6682—4318X, 12— (z0g

Standard errors = (1.22) (1.333)

L. Interpret this regression. How would you interpret r??[10 MARKS]

ii. Does the negative value of X; make economic sense? What is the
underlying economic theory? [8 MARKS]

iii. Suppose we were to redefine X as the ratio of German CPI to the

U.S. CPI. Would that change the sign of X?» Why? [7 MARKS]

QUESTION 2

From a sample of 209 firms, Professor Simelane obtained the following

regression result:

logZ =4.32+0.280log X, +0.0174Y, + 0.000248,

se= (0.32) (0.085)  (0.0041) (0.00054:)
R? = 0.283
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Where: Z = salary of CEO

X = annual firm sales
Y = return on equity in percent

S = return on firm'’s stock

Figures in parentheses are the estimated standard errors.

11.

iii.

Interpret the preceding regression taking into account any prior

expectations that you may have about the signs of the various

coefficients. [7 MARKS]
Which of the coefficients are individually statistically significant at
the 5 percent level? [9 MARKS]

Can you interpret the coefficients of return on equity in percent (Y)
and return on firm’s stock (S) as elasticity coefficients? Why or why

not? [ 9 MARKS]

QUESTION 3

Suppose that we want to estimate a consumption function:

G =Bo +BY: + &

Where C; = consumption, and Y, = disposable income.
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1. Assume that we have a reason to believe that war which has been
conducted in & of the 50 years (which is the number of observations)
has affected the level of consumption. Re-specify the model by
accounting for the impact of war. Discuss how to test for the Impact

of war. [15 MARKS]]

li. Suppose that we suspect that the war affected the marginal
propensity to consume. Re-specify the model by accounting for
impact of war. Discuss how to test for the impact of war on marginal

propensity to consume. [10 MARKS]

QUESTION 4

Define autoregressive conditional heteroskedasticy and show the test

procedure of detecting it in a regression. [256 MARKS]



APPENDIX D- STATISTICAL TABLES 961

TABLE D.2 PERCENTAGE POINTS OF THE

tDISTRIBUTION
Example
Pr(t > 2.086) = 0.025
Pr(t = 1.725) = 0,05 for df = 20

Pr(lt] > 1.725) = 0.10

Note: The sm, ty shown at the head of each column is th
Is the area in both tails,

Source; From E. S. Pearson and 1. O. Harlley, eds., Biomeatrika Tables for Stalisticiar
Cambridge University Press, New York, 1966, Reproduced by permission

15, vol, 1, 3¢ ed., tahle 12,
of the editors agn trustees of Biomelyika,




